

Trigonometric Integrals and Hadamard Products

L. R. Bragg

The American Mathematical Monthly, Vol. 106, No. 1. (Jan., 1999), pp. 36-42.

Stable URL:

http://links.jstor.org/sici?sici=0002-9890%28199901%29106%3A1%3C36%3ATIAHP%3E2.0.CO%3B2-D

The American Mathematical Monthly is currently published by Mathematical Association of America.

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at http://www.jstor.org/about/terms.html. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at <u>http://www.jstor.org/journals/maa.html</u>.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

The JSTOR Archive is a trusted digital repository providing for long-term preservation and access to leading academic journals and scholarly literature from around the world. The Archive is supported by libraries, scholarly societies, publishers, and foundations. It is an initiative of JSTOR, a not-for-profit organization with a mission to help the scholarly community take advantage of advances in technology. For more information regarding JSTOR, please contact support@jstor.org.

Trigonometric Integrals and Hadamard Products

L. R. Bragg

1. INTRODUCTION. Let $f(z) = \sum_{n=0}^{\infty} a_n z^n$ and $g(z) = \sum_{n=0}^{\infty} b_n z^n$ be analytic functions in respective disks D_1 and D_2 centered at the origin. Let $h(\xi) = \sum_{n=0}^{\infty} a_n b_n \xi^n$ be analytic in some disk centered at $\xi = 0$. In a famous 1899 paper [5], J. Hadamard used the integral convolution

$$h(\xi) = (2\pi)^{-1} \int_0^{2\pi} f(ze^{i\theta}) g(\zeta e^{-i\theta}) d\theta \qquad (1.1)$$

 $(\xi = z\zeta)$ to characterize the singularities of the function $h(\xi)$ in terms of those of f(z) and g(z) (see also [13, p. 157]). The coefficient-wise product of power series denoted by $h(\xi) = f(z) \circ g(\zeta)$ is often called the *Hadamard product* of f(z) and $g(\zeta)$ (alternative appellations include *Schur product* and *quasi inner product*).

The Hadamard product appears naturally in a variety of theoretical and applied mathematical questions. While studying the Bieberbach conjecture long before L. deBrange's proof, C. Loewner and E. Netanyahu [7] showed that a Hadamard-type product of two normalized (f(0) = 0, f'(0) = 1) univalent (one-to-one) analytic functions in the unit disk need not be univalent and can even have a zero derivative. St. Ruschewegh and T. Sheil-Small [12] showed that the Hadamard product of two normalized analytic convex mappings of the unit disk is a convex mapping. In [3], the Hadamard product appears in a variety of multiplier problems. In an 1894 paper [9], Th. Moutard used (essentially) the fact that an entry-wise product of positive definite matrices is positive definite to establish uniqueness theorems for solutions of a class of elliptic partial differential equations. Many properties and applications of the Hadamard product are surveyed in [6]. The author has used this product and a generalization to derive known and new formulas for special functions [1]. Finally, the Hadamard product, together with a factor switching property, was used in [2] to construct solution formulas for a variety of Cauchy-type problems.

Because of its connection with the integral convolution (1.1), the Hadamard product can lead to elegant evaluations of complicated trigonometric integrals and provide analytic derivations of combinatorial identities. The student with a solid background in the calculus and basic differential equations can use it to carry out beginning studies on special functions and their representations while being introduced to notions of complex variables. We focus on these areas while emphasizing how to choose the functions in the associated Hadamard products.

For example, consider the series definition for the Bessel function

$$J_0(z) = \sum_{n=0}^{\infty} (-1)^n z^{2n} / \{2^{2n} n! \cdot n!\} = \sum_{n=0}^{\infty} (1/(2^n n!)) ((-1)^n / (2^n n!)) z^{2n}$$

and observe that the terms $1/(2^n n!)$ are the coefficients in the series for $e^{z/2}$ while the terms $(-1)^n/(2^n n!)$ are the coefficients in the series for $e^{-z/2}$. It follows

that

$$J_0(z) = e^{z/2} \circ e^{-z/2} = (2\pi)^{-1} \int_0^{2\pi} e^{(ze^{i\theta})/2} e^{-(ze^{i\theta})/2} d\theta.$$

Applying the Euler formulas to the integrand yields the standard integral formula

$$J_0(z) = (2\pi)^{-1} \int_0^{2\pi} \cos(z\sin\theta) d\theta.$$

Before outlining the topics to be considered in the following sections, we introduce a Hadamard-type product depending on two integer parameters.

Definition 1. For *p* and *q* relatively prime, and for $z \in D_1$, $\zeta \in D_2$, define

$$f(z)_{p} \circ_{q} g(\zeta) = (2\pi)^{-1} \int_{0}^{2\pi} f(ze^{pi\theta}) g(\zeta e^{-qi\theta}) d\theta = \sum_{n=0}^{\infty} a_{qn} b_{pn} z^{qn} \zeta^{pn}.$$
(1.2)

If either f(z) or $g(\zeta)$ is a polynomial, then the series in (1.1) is a polynomial in $z\zeta$. In Section 2, we apply (1.1) in various ways to polynomials of the form $(1 \pm z)^n$ to obtain evaluations of numerous trigonometric integrals and prove binomial identities. Repeated Hadamard products are employed in Section 3 to evaluate multiple trigonometric integrals. Section 4 treats integral representations of some special functions in which at least one of the functions entering the associated Hadamard product is not a polynomial. Finally, in Section 5, we introduce the selector function, which sums the coefficients of a subseries of a given series, and show how it can be used to replace certain sums by integrals.

2. SPECIAL SUMS AND SINGLE INTEGRALS. Let us now use (1.1) to evaluate some special sums and trigonometric integrals.

Example 2.1. We wish to establish the familiar binomial identity

$$\sum_{j=0}^{2n} (-1)^{j} {\binom{2n}{j}}^{2} = (-1)^{n} {\binom{2n}{n}}$$
(2.1)

(see [11] for this and related identities). On the one hand, through integration by parts, one obtains a reduction relation which permits showing

$$\int_{0}^{2\pi} \sin^{2n}\theta \, d\theta = \frac{2\pi}{2^{2n}} \binom{2n}{n}.$$
 (2.2)

Alternatively, we note that $2 \sin \theta = e^{i\theta} - e^{-i\theta} = (1 + e^{i\theta})(1 - e^{-i\theta})$, which suggests considering the Hadamard product $(1 + z)^{2n} \circ (1 - z)^{2n}$. With $a_j = \binom{2n}{j}$, $b_j = (-1)^j a_j$, and p = q = 1, (1.1) gives

$$(1+z)^{2n} \circ (1-z)^{2n} = \frac{1}{2\pi} \int_0^{2\pi} (1+ze^{i\theta})^{2n} (1-ze^{-i\theta})^{2n} d\theta$$
$$= \sum_{j=0}^{2n} (-1)^j {\binom{2n}{j}}^2 z^{2j}.$$
(2.3)

1999]

Setting z = 1, we have

$$\int_{0}^{2\pi} \sin^{2n}\theta \, d\theta = (-1)^{n} \frac{2\pi}{2^{2n}} \sum_{j=0}^{2n} (-1)^{j} {\binom{2n}{j}}^{2}, \qquad (2.4)$$

which, together with (2.2) gives (2.1).

Example 2.2. Suppose that p and q are relatively prime and let r be a positive integer. We prove

$$\int_0^{\pi} \cos^{pr}(q\theta) \cdot \cos^{qr}(p\theta) \, d\theta = \frac{\pi}{2^{r(p+q)}} \sum_{l=0}^r \binom{qr}{ql} \binom{pr}{pl}.$$
 (2.5)

Replace $\cos \theta$ by $(e^{i\theta} + e^{-i\theta})/2$ and take $f(z) = (1 + z)^{qr}$ and $g(z) = (1 + z)^{pr}$ in (1.2), which becomes

$$f(z)_{p \circ q} g(z) = (2\pi)^{-1} \int_{0}^{2\pi} (1 + ze^{pi\theta})^{qr} (1 + ze^{-qi\theta})^{pr} d\theta$$
$$= \sum_{l=0}^{r} {qr \choose ql} {pr \choose pl} z^{l(p+q)}.$$
(2.6)

Compute

$$(1+e^{pi\theta})^{qr}(1+e^{-qi\theta})^{pr}$$

$$= \left[e^{pqri\theta/2}(e^{pi\theta/2}+e^{-pi\theta/2})^{qr}\right]\left[e^{-qpri\theta/2}(e^{qi\theta/2}+e^{-qi\theta/2})^{pr}\right]$$

$$= \left(2\cos\frac{p\theta}{2}\right)^{qr}\left(2\cos\frac{q\theta}{2}\right)^{pr} = 2^{r(p+q)}\cos^{qr}\left(\frac{p\theta}{2}\right)\cos^{pr}\left(\frac{q\theta}{2}\right),$$

insert this into the integral in (2.6) (with z = 1), make the change of variables $\theta = 2\phi$, and (2.5) follows.

A generalization of (2.5) can be obtained by taking $f(z) = (1 + z)^m$ and $g(z) = (1 + z)^n$. By applying (1.1), taking the real part of the integral involved, and making a simple change of variables, one can establish

$$\int_0^{\pi} (\cos p\phi)^m (\cos q\phi)^n \cos(mp - nq) \phi d\phi = \frac{\pi}{2^{m+n}} \sum_{l=0}^H \binom{m}{ql} \binom{n}{pl} \quad (2.7)$$

where $H = \min\left\{\left[\frac{m}{q}\right], \left[\frac{n}{p}\right]\right\}$. A variety of analogous integrals appear in [4, pp. 372–374].

Example 2.3. Let $z_1 = z_2 = z$ and take $f(z) = g(z) = (a + bz + az^2)^n$. The trinomial expansion gives $f(z) = \sum_{k=0}^{2n} c_k z^k$, in which

$$c_{k} = \sum_{j_{2}+2j_{3}=k} {\binom{n}{j_{1}, j_{2}, j_{3}}} a^{j_{1}+j_{3}} b^{j_{2}}$$

where $j_1 + j_2 + j_3 = n$ and $j_i \ge 0$. We show that

$$\sum_{k=0}^{2n} c_k^2 = b^{2n} F_1(-n, -n + 1/2; 1; 4a^2/b^2).$$
(2.8)

where ${}_{2}F_{1}(\alpha, \beta; \gamma; z)$ denotes the usual Gauss hypergeometric function with parame-

38

ters α, β , and γ [8, pp. 37–62]. Compute

$$\sum_{k=0}^{2n} c_k^2 = (f(z) \circ f(z))|_{z=1}$$

= $(2\pi)^{-1} \int_0^{2\pi} (a + be^{i\theta} + ae^{2i\theta})^n (a + be^{-i\theta} + ae^{-2i\theta})^n d\theta$
= $(2\pi)^{-1} \int_0^{2\pi} (2a\cos\theta + b)^{2n} d\theta.$ (2.9)

Expand the integrand in the latter integral, integrate term-by-term, and use the beta function and its reduction properties (see [8, pp. 7-8]) to find that

$$\sum_{k=0}^{2n} c_k^2 = \sum_{k=0}^n \frac{(2n)! \cdot a^{2j} b^{2n-2j}}{(2n-2k)! k! k!}.$$
(2.10)

Finally, replace (2n)!/(2n-2k)! in this by $2^{2k}(-n)_k(-n+1/2)_k$ to obtain (2.8).

3. SOME MULTIPLE TRIGONOMETRIC INTEGRALS. The Hadamard product of two polynomials is a new polynomial, which one can use to form a Hadamard product with another polynomial, etc. By repeating the Hadamard product operation and finally evaluating at z = 1, as in Section 2, one can evaluate various multiple trigonometric integrals.

Example 3.1. As in (2.1.6), we have

$$(1+z)^{n} \circ (1+z)^{n} = (2\pi)^{-1} \int_{0}^{2\pi} (1+ze^{i\theta})^{n} (1+ze^{-i\theta})^{n} d\theta$$
$$= \sum_{j=0}^{n} {\binom{n}{j}}^{2} z^{2j} = F(z).$$
(3.1)

An application of (1.1) to $F(z) \circ (1 + z)^n$ yields

$$\frac{1}{(2\pi)^2} \int_0^{2\pi} \int_0^{2\pi} \int_0^{2\pi} \left[(1 + ze^{i(\phi+\theta)})(1 + ze^{i(\phi-\theta)})(1 + ze^{-i\phi}) \right]^n d\phi \, d\theta$$

$$\begin{bmatrix} \frac{n}{2} \\ -\frac{1}{2} \end{bmatrix} \begin{pmatrix} n \\ -\frac{1}{2} \end{pmatrix}^2 \begin{pmatrix} n \\ -\frac{1}{2} \end{bmatrix} \begin{pmatrix} n \\ -\frac{1}{2} \end{pmatrix}^2 \begin{pmatrix} n \\ -\frac{1}{2} \end{pmatrix} (n + ze^{i(\phi+\theta)}) (1 + ze^{i(\phi-\theta)}) (1 + ze^{i(\phi-\theta)}) (1 + ze^{-i\phi}) = 0$$

$$= \sum_{j=0}^{\lfloor 2 \rfloor} {\binom{n}{j}}^2 {\binom{n}{2j}} z^{4j}.$$
 (3.2)

г м **Т**

Set z = 1 and observe that the bracketed term in the integrand can be written as $2^3 e^{i\phi/2} \cos((\phi + \theta)/2) \cdot \cos((\phi - \theta)/2) \cos(\phi/2) = 2^2 e^{i\phi/2} \cos(\phi/2) [\cos \phi + \cos \theta]$. Insert this into (3.2), with z = 1, and take the real part of both sides to get

$$\int_{0}^{2\pi} \int_{0}^{2\pi} \cos(n\phi/2) \cos^{n}(\phi/2) [\cos\phi + \cos\theta]^{n} d\phi d\theta = \frac{4\pi^{2}}{2^{2n}} \sum_{j=0}^{\left\lfloor \frac{n}{2} \right\rfloor} {\binom{n}{j}}^{2} {\binom{n}{2j}}.$$
(3.3)

1999]

39

A similar treatment of $G(z) = F(z) \circ F(z)$ leads to the triple integral formula

$$\int_{0}^{2\pi} \int_{0}^{2\pi} \int_{0}^{2\pi} \left[(\cos \theta_{1} + \cos \theta_{2}) (\cos \theta_{1} + \cos \theta_{3}) \right]^{n} d\theta_{1} d\theta_{2} d\theta_{3} = \frac{(2\pi)^{3}}{2^{2n}} \sum_{k=0}^{n} {\binom{n}{k}}^{4}.$$
(3.4)

Example 3.2. The repeated Hadamard product $[(1 + z)^m \circ (1 + z)^n] \circ (1 + z^2)^p$ yields the double integral formula

$$\int_0^{\pi} \int_0^{\pi} \cos[(m-n)\theta + (m+n-2p)\phi] \cos^m(\theta+\phi) \cos^n(\theta-\phi) \cos^p(2\phi) d\theta d\phi$$

$$=\frac{\pi^2}{2^{m+n+p}}\sum_{j=0}^{\min(m,n,p)}\binom{m}{j}\binom{n}{j}\binom{p}{j}.$$
 (3.5)

Taking m = n = p, it is not difficult to establish

$$\int_0^{2\pi} \int_0^{2\pi} \left[\cos \theta (\cos \theta + \cos \phi)\right]^m d\theta \, d\phi = \frac{4\pi^2}{2^{2m}} \sum_{j=0}^m \binom{m}{j}^3.$$

4. SOME SPECIAL POLYNOMIALS. Thus far, both Hadamard product factors f(z) and $g(\zeta)$ have been polynomials. A convenient non-polynomial choice for f(z) is the exponential function and we shall use it to obtain trigonometric integral representations for the classical Laguerre polynomials and for some special hypergeometric type polynomials.

Example 4.1. The Laguerre Polynomials. The Laguerre polynomials are defined by $L_n(z) = \sum_{j=0}^n \frac{(-1)^j}{j!} \cdot {n \choose j} z^j$ (see [8, p. 239] or [10, pp. 200–217]). We identify ${n \choose j}$ as the Maclaurin coefficients of $(1 + \zeta)^n$ and $(-1)^j / j!$ as the Maclaurin coefficients of e^{-z} . Then using (1.1), we have

$$L_n(z\zeta) = \sum_{j=0}^n \left\{ \frac{(-1)^j z^j}{j!} \right\} \left\{ \binom{n}{j} \zeta^j \right\} = e^{-z} \circ (1+\zeta)^n$$
$$= \frac{1}{2\pi} \int_0^{2\pi} e^{-ze^{i\theta}} (1+\zeta e^{-i\theta})^n d\theta.$$
(4.1)

If we now select z = x (real) and $\zeta = 1$, we obtain

$$L_{n}(x) = \operatorname{Re}\left\{ \left(2\pi\right)^{-1} \int_{0}^{2\pi} e^{-x\cos\theta} \cdot e^{-ix\sin\theta - n\,\theta i/2} \left(e^{i\theta/2} + e^{-i\theta/2}\right)^{n} d\theta \right\}$$
$$= 2^{n} \left(2\pi\right)^{-1} \int_{0}^{2\pi} e^{-x\cos\theta} \cos(x\sin\theta + n\theta/2) \cos^{n}(\theta/2) d\theta$$
$$= 2^{n} \pi^{-1} \int_{0}^{\pi} e^{-x\cos2\phi} \cos(x\sin2\phi + n\phi) \cos^{n}\phi d\phi.$$
(4.2)

Since $L_n(0) = 1$, this yields $\int_0^{\pi} \cos(n\phi) \cos^n\phi \, d\phi = \pi/2^n$.

Example 4.2. A Hypergeometric Polynomial. Select $f(z) = e^{-z}$ and $g(\zeta) = (1 - \zeta)^n$. Then (1.1) gives

$$e^{-z_{1}} \circ {}_{2}(1-\zeta)^{n} = (2\pi)^{-1} \int_{0}^{2\pi} e^{-ze^{2i\theta}} (1-\zeta e^{-i\theta})^{n} d\theta$$
$$= \sum_{k=0}^{\left[\frac{n}{2}\right]} \frac{(-1)^{k}}{k!} {n \choose 2k} z^{k} \zeta^{k} = p_{n}(z,\zeta).$$
(4.3)

Choose z = x, x *real*, and $\zeta = 1$ and obtain

$$p_n(x,1) = \sum_{k=0}^{\left[\frac{n}{2}\right]} \frac{(-1)^k}{k!} \frac{n!}{(2k)!(n-2k)!} x^k.$$

Taking the real and imaginary parts of the integral in (4.3), and making the change of variables $\theta = 2\phi$ gives

$$p_n(x,1) = \begin{cases} \frac{(-1)^{n/2} 2^n}{\pi} \int_0^{\pi} e^{-x \cos 4\phi} \cos(x \sin 4\phi + n\phi) \sin^n \phi d\phi & \text{for } n \text{ even,} \\ (-1)^{(n-1)/2} 2^n & - \end{cases}$$

$$\left(\frac{(-1)^{(n-1)/2}2^n}{\pi}\int_0^{\pi}e^{-x\cos 4\phi}\sin(x\sin 4\phi + n\phi)\sin^n\phi\,d\phi\quad\text{for }n\text{ odd.}$$
(4.4)

5. THE SELECTOR FUNCTION. Let $S_k(z) = \sum_{j=0}^k z^j = (1 - z^{k+1})/(1 - z)$ and let $P_n(z) = \sum_{j=0}^n a_j z^j$. Form $P_n(z)_1 \circ_q S_k(z)$ and replace z by 1 to obtain

$$(2\pi)^{-1} \int_{0}^{2\pi} P_{n}(e^{i\theta}) \frac{(1 - e^{-q(k+1)i\theta})}{(1 - e^{-qi\theta})} d\theta =$$

$$(2\pi)^{-1} \int_{0}^{2\pi} P_{n}(e^{i\theta}) e^{-qki\theta/2} \frac{\sin q(k+1)\theta/2}{\sin q\theta/2} d\theta = \sum_{j=0}^{\min\left\{ \left[\frac{n}{q}\right], \left[\frac{k}{q}\right] \right\}} a_{qj}. \quad (5.1)$$

The latter series is a sum of a subset of the coefficients of the polynomial $P_n(z)$ in which the indices are multiples of q. This particular subset also depends upon the choice of k. It is clear that if q = 1 and $k \ge n$, then the series in (5.1) reduces to P(1). Thus, with appropriate choices of q and k, (5.1) can be applied in a variety of ways to replace finite sums by trigonometric integrals. Because of its utility for singling out particular terms of a polynomial, we refer to $S_k(z)$ as a selector function.

To write an integral formula for the binomial sum $\sum_{j=0}^{m} {n \choose j}$, take $P_n(z) = (1+z)^n$, q = 1, and k = m in (5.1). Applying the Euler relations and taking $\theta = 2\phi$ leads to

$$\sum_{j=0}^{m} \binom{n}{j} = \frac{2^{n}}{\pi} \int_{0}^{\pi} \cos^{n}(\phi) \cos((n-m)\phi) \frac{\sin((m+1)\phi)}{\sin(\phi)} \, d\phi.$$
(5.2)

While the denominator in the integrand vanishes at $\phi = 0$ and $\phi = \pi$, so also does $\sin((m + 1)\phi)$. The singularities cancel and the integral (5.2) is well defined.

1999]

As a final example, take $P_n(z) = (1 + z)^{pq}$ and k = p in (5.1) with $q \ge 1$. We leave it to the reader to conclude that

$$\int_{0}^{\pi} \cos^{pq} \phi \frac{\sin q(p+1)\phi}{\sin q\phi} \, d\phi = \frac{2\pi}{2^{pq}} \sum_{k=0}^{p} \binom{pq}{kq}.$$
 (5.3)

REFERENCES

- 1. L. R. Bragg, Quasi inner products of analytic functions with applications to special functions, *SIAM J. Math. Anal.* 17 (1986) 220–230.
- 2. L. R. Bragg, A quasi inner product approach for constructing solution representations of Cauchy problems, *Rocky Mountain J. Math* 24 (1994) 1273–1306.
- P. L. Duran, B. W. Romberg, and A. L. Shields, Linear functionals on H^p-spaces with 0 J. Reine Angew. Math. 238 (1969) 32–60.
- 4. I. S. Gradshteyn and I. M. Ryzhik, *Tables of Integrals, Series, and Products*, Academic Press, Inc., New York, 1980.
- 5. J. Hadamard, Theoreme sur les series entieres, Acta Math. 22 (1899) 55-63.
- 6. R. A. Horn, The Hadamard product, Proc. Symposia in Applied Math. 40 (1990) 87-169.
- C. Loewner and E. Netanyahu, On some compositions of Hadamard type in classes of analytic functions, *Bull. Amer. Math. Soc.* 65 (1959) 284–286.
- 8. W. Magnus, F. Oberhettinger, and R. Soni, Formulas and Theorems for the Special Functions of Mathematical Physics, Springer-Verlag New York, 1966.
- 9. Th. Moutard, Notes sur les Equations Derivees Partielles, J. de L'Ecole Polytechnique 64 (1894) 55–69.
- 10. E. Rainville, Special functions, MacMillan, New York, 1960.
- 11. J. Riordan, Combinatorial Identities, John Wiley and Sons, New York, 1968.
- 12. St. Ruscheweyh and T. Sheil-Small, Hadamard products of schlict functions and the Pólya-Schoenberg conjecture, *Comment. Math. Helv.* **48** (1973) 119–135.
- 13. E. C. Titchmarsh, The Theory of Functions. Oxford University Press, Oxford, 1949.

LOUIS R. BRAGG received his doctorate from the University of Wisconsin-Madison. He has reached the status of professor emeritus of mathematical sciences at Oakland University after having served there as a professor during 1966–1997. His primary research area is partial differential equations with an emphasis on transmutation and complex variable studies. He is also interested in special functions and parametric methods.

Department of Mathematical Sciences, Oakland University, Rochester, MI, 48309-4401. bragg@oakland.edu